
MK7 SPOILER EXTENSION (ALL STYLES) 
Install Time: Less than 1hr 

Included in the order: 
 

• Aluminum Spoiler Extension 

• 4 10x32 Stainless Steel Bolts 

• 4 #10 inner lock washers 

• 4 #10 Washers 

• 4 Expansion nuts (well-nuts) * 
*look up “well-nuts “on YouTube for more info on how they work 

 
Need:   
 

• 3M Mounting tape 

• Thread Locker (Loctite Blue 242)-Prevents bolt from backing out due to vibration 

• Sharpie 

• Drill 

• 1/4 drill bit (pilot hole) 

• 3/8 drill bit 

• 1/8 Hex Key (for the bolts) 

• Helping hand (recommended) 

• Rags or cloth to cover the rear glass (helps with mess and protects the glass) 
 

 
 

 
 
 
 
 
 
 
 
 
 
 

PAGE 1 OF 4 - VEGA MOTORWORKS LLC REV1.00 



Directions 
(Professional Installation recommended. We are not responsible for any damages occurred during or after the installation). 

 
1. Line the Vega spoiler extension, using the brake light and the edges of the OEM spoiler as a guide. 
2. Once you line it up, make sure it does not move (a helper will make this process easier). 
3. Take a sharpie and mark all 4 holes that are on the Vega spoiler extension.  
4. Remove Vega spoiler Extension and set aside. 
5. Use a 1/4 bit to make 4 pilot holes. Drill the CENTER of each hole that you marked on the OEM spoiler. 

Plastic is very easy to drill through, so be careful. TAKE YOUR TIME AND MAKE SURE YOU CENTER THE 
DRILL BIT to the marks you made with the sharpie. 

6. Use the 3/8 drill bit to finish the holes. 
7. Place the mounting tape as shown in illustration below. 
8. Clean off the OEM spoiler thoroughly.  
9. Place the 3M tape on the OEM spoiler (see illustration). 
10. Place the Vega Spoiler Extension on to the OEM spoiler making sure it lines up to the 4 holes that were 

drilled. 
11. Place the 4 EXPANSION nuts through the 4 holes on the spoiler extension. 
12. Place the washers through the bolt (as shown in the illustration below). Then add the Loctite. 
13. With a 1/8 hex key, use the 4- #10 bolts and washers to attach the Vega extension to the OEM spoiler 

via the Expansion nuts. As you tighten, the well-nut will expand causing it to lock in place within the 
inside of the OEM spoiler.  

 
BOLT SETUP AND THREAD LOCKER PLACEMENT  Bolt/lock washer/washer/well-nut/Loctite 

 
 

  
 

PAGE 2 OF 4- VEGA MOTORWORKS LLC REV1.00 



 
 

 
 

3M TAPE PLACEMENT ( notice there are 4 locations). 

 
 

PAGE 3 OF 4- VEGA MOTORWORKS LLC REV1.00 



 

 

 
 

 
 

 
 

PAGE 4 OF 4- VEGA MOTORWORKS LLC REV1.00 
 

Once you add the 3m Tape, insert the 4 
well-nuts through the Vega Extension. 
Once you do that push the well-nuts 
through the 4 (3/8”) holes drilled on the 
OEM spoiler. 
 
 

DO NOT FORGET TO APPLY LOCTITE. 
 
 Tighten the bolts (following the 
bolt/washer setup illustration on 
page 2). Helps to press the Vega 
spoiler up against the OEM spoiler to 
make sure the well-nut is all the way 
in the hole.   
 
Side note: Adding and tightening the 
2 OUTSIDE bolts first makes life 
easier. 

 
 
TIGHTEN BY HAND using a 1/8 Hex 
tool. Do NOT use power tools. 
 


